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General Instructions :
(i) Please read the instructions carefully.

(it)  This question paper consists of 24 questions in two Sections : Section A
and Section B.

(iti) Section A has Objective Type Questions, whereas Section B contains
Subjective Type Questions.

(iv) Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

(v)  All questions of a particular section must be attempted in the correct
order.
(vi) Section A : Objective Type Questions (30 marks) :
(a)  This section has 6 questions.
(b)  There is no negative marking.
(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

(vii) Section B : Subjective Type Questions (30 marks) :
(a)  This section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective Type Questions) (30 Marks)
1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4

) What is meant by Decoding ?
(A) Turning thoughts into communication
(B) Turning communication into thoughts
(C) Turning thoughts and communication

(D) Turning communication and thoughts
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(i) G Sishar § T ot o o7 § 2
(i) EIEIMe i TR SUSTATE o [T HIF-HT WTeshe hl” T BIT & ?

(A) Ctrl+B (B) Ctrl+1
(C) Ctrl+L (D) Ctrl+U
(iv) fordt safeh & safehea & auia & forg freafaftaa & @ ig-ar arere 78 2 2
(A)  ATerfgaT™ (B) T
(C)  weitferegsar (D) HEHadT
(v) g T HqET ST 8 |
(A) e (B) famm
(C) AT U fog S (D) s
(vi) &Na kit o 31d 8 2
2. feuwmu 7 uwi g @ fnsdi 5 & s difso | 5x1=5
G T HuRrded § Siad 9 S IR Sl T8l 2t |
(A) T 5,000 (B) < 10,000
(C) < 15,000 (D) T 20,000
(i)  afe foxfr ad 1 srier & 3T 2T 8, at o fowTet o1 3fd e grar @ 2
A) 319 (B) 30T
(C) 30 fder (D) 31 feEs
(iii)  SfeEet usfieror 2
(A) T 3T (B) UGS T
(C) IR AT (D) WA U8 U AT
(iv) YR TR AT 1961 Y HIF-HT &mT 97 (PAN) ¥ Geiford & 2
(A) 139A (B) 140A
(C) 147A (D) 54EC

(v)  SFHP % ufeaifya HifST |

(vi) B HIRTST o &I STRATH ST3T |

(vii)  SATESTIEER 7 qof &0 T & 2
(A) & fvegaa i fafeet et
(B) <t guetAvHd Ui ferfeen swrefaa
(C) < sfveaT i sHfhREe wefae
(D) @ 30T W SRR Swrefiet
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(ii)) What is meant by noise in the communication process ?
(i1i)) What is the shortcut key to underline text in a spreadsheet ?
(A) Ctrl+B (B) Ctrl+1
(C) Ctrl+L (D) Ctrl+U
(iv)  Which of the following is not a parameter to describe an individual’s
personality ?
(A) Self-confidence (B) Openness
(C) Neuroticism (D) Agreeableness
(v)  Entrepreneurship is considered to be :
(A) Anart (B) A science
(C) Both an art and a science (D) A profession

(vi) What is meant by Green Jobs ?

2. Answer any 5 out of the given 7 questions. 5x1=5
) TDS is not deducted on wining a lottery up to the amount of
(A) T 5,000 (B) < 10,000
(C) ¥ 15,000 (D) < 20,000
(ii)  If the financial year starts from April 15t then the 15t quarter will
end on :
(A) March 31st (B) June 30th
(C) September 30th (D) December 315t
(iii) GST registration is :
(A) PAN based (B) Passport based
(C) Aadhar based (D) Voter ID Card based
(iv)  Which section of the Indian Income Tax Act, 1961 deals with PAN ?
(A) 139A (B) 140A
(C) 147A (D) 54EC

(v)  Define ‘Entrepreneur’.
(vi)  List the main dimensions of Green Skills.
(vii) What is the full form of IGBC ?
(A) The Indian Green Building Council
(B) The International Green Building Council
(C) The Indian Green Beneficial Council
(D) The International Green Beneficial Council
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3. w7 uwi g @ ot 6 % ST difv 6x1=6
(i) 9T 80C % d8d shald! o foTu SAfereram Jwerar HmT R
(A) ¥ 50,000 (B) ¥ 1,50,000
(C) T 2,00,000 (D) ¥ 3,00,000

(i) 3% fIC amr 80G: o T&d ekl sht SAFAf 2 -
(A)  FId T At it & g
(B) forelt it o forg
(C)  =afeha ettt a1 et femg witam o forg
(D) I AT Fraffet & fag
(ii) 9T 8OE o d8q I=a II&T o foIq RI& 01 T A1 o T il ot aral

Afrehan forer 3rarfy o foru fomam stTwepar 2 2
(A) 8ad (B) 9a¥
(C) 1099 (D) 1299

(iv) 9RT 80DD o d&d sheld] shT ST Shid T TohdT & ?

(A)  HF fewg uiEm

(B) =ah

(C) fTopaim ke

(D) Hge fég uftam o =afeh St forelt forsheti =afeh ot W A R 2 |
v) AS@ERTAIR 2
(vi)  Ue UHT %UE arsy foresk fTT amr 80G & @ed 100% e faffa |

(vil) M-8 9T o qeq sAfhTa/agE &g e & faferear star fiftem o forg

AT ST B ?
(A) 9T 80D (B) ¢RI 80E
(C) 9T 80B (D) «RI80C
4. U 6 g 4 ¥ fohedi 5 Tl & IT T | 5x1=5
(1) 3T quiiferd fopam ST &
(A) Trreaazegdas (B) Trreaazusmdasw

(C) A HIS YOI Tl (D) FrreamzuE TR
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3. Answer any 6 out of the given 7 questions. 6x1=6
1) Maximum qualifying limit for deduction under Section 80C is :
(A) < 50,000 (B) ¥ 1,50,000
(C) < 2,00,000 (D) < 3,00,000

(i1)  Deduction under Section 80G on account of donation is allowed to :
(A) A business assessee only
(B) Any assessee
(C) Individual assessee or HUF only
(D) Individual assessee only

(111) Deduction under Section 80E for interest on education loan taken for
higher education can be claimed for a maximum period of :

(A) 8years (B) 9years
(C) 10 years (D) 12 years

(iv)  Who can claim deduction under Section 80DD ?
(A) HUFs

(B) Individuals
(C) Disabled persons
(D) HUFs and individuals who are caring for a disabled dependent

(v)  What do you mean by TDS ?

(vi)  State one fund which is eligible for deduction under Section 80G at
100%.

(viil) Which section is related to deduction in respect of medical insurance
premium available to individual/HUF ?

(A) Section 80D (B) Section 80E
(C) Section 80B (D) Section 80C
4. Answer any 5 out of the given 6 questions. 5x1=5
(1) Income tax is rounded off to
(A) Nearest ten rupees (B) Nearest one rupee
(C) No rounding off of tax (D) Nearest five rupees
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e [T e
(i) WAt T oo e Sus (SHEC) 39 &
(A) TR T
(B) TRt SRR W, Afe AT &
(C) TRrar TR ™
(D) IR, SR I R SUeRt Afe AT &7 |
(i)  ToT WG HT Femeh 8 fEeht 117 56 a9 § | ITH AW 2015-16 T FA A
T 7,26,500 T | SThT T 3T off |

(A) T 72,410 (B) ¥ 74,210
(C) 70,410 (D) T 71,410
(v) Tremw=Ts:
(A) 2% B) 3%
) 5% (D) 10%
(v) 91T 80QQB % d8d W@l sl TRIed! 31 ¥ shdidt ffafiad & e1fies 1=t
Bt ;
(A) T 50,000 (B) ¥ 1,50,000
(C) ¥ 2,00,000 (D) < 3,00,000
(vi)  RT 80IC 3 A heldT hl STTART T STt B A Famar Rud & :
(A) Tt ftosT
(B) frei e osad

() Tafomw, Rumeet w7 STUwEvE TSl o
(D) A 9w o STEve Usa |

5. TRuww 6 ywi o @ Rt 5 aet & s difse | 5x1=5
(i)  HASSHTES T s’ ot ar aref & 2
(A) FeA (B) 3udtics
(C) 3UeHTHAA (D) 3o
(Gi)  ford oft st Tsdia @iie W AT ST et X hEdTd ©
(A)  IATSSiTEe (B) isiiuadt o wasiuae
(C) unSiud (D) HSfeeet
(iii) YR % STH Hied H HTEATS hl T =
(A) 6 B) 4
(C) 3 (D) 5
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e [ T]]] e
(i1))  Secondary and Higher Education Cess (SHEC) is leviable on
(A) Income tax
(B) Income tax surcharge if applicable
(C) Education cess

(D) Income tax, surcharge if applicable and education cess

(iii)) Radha, a resident of India, is 56 years old. Her total income for
assessment year 2015 — 16 was ¥ 7,26,500. Her tax liability was

(A) < 72410 (B) < 74,210
(C) < 70410 (D) <% 71,410
(iv)  Education cess is leviable @
A 2% B) 3%
) 5% (D) 10%
(v)  Deduction available under Section 80QQB in respect of royalty
income of authors shall not exceed in a previous year.
(A) < 50,000 (B) < 1,50,000
(C) T 2,00,000 (D) ¥ 3,00,000

(vi) Deduction under Section 80IC is allowed if the business of the
assessee is situated

(A) In any state

(B) In any backward state

(C) In the states of Sikkim, Himachal Pradesh and Uttarakhand
(D) In the states of Himachal Pradesh and Uttarakhand

5. Answer any 5 out of the given 6 questions. 5x1=5
(1) What does “I” in IGST stand for ?
(A) Internal (B) Integrated
(C) International (D) Intra
(i1) Taxes that are levied on any Intra State purchases are
(A) IGST (B) CGST and SGST
(C) SGST (D) CGST
(iii) The number of structures in India’s GST model is
(A) 6 B) 4

) 3 (D) 5
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(iv)

(v)

(vi)

W H S{TTEet A get

(A) 1SHad 2017 (B) 13w 2017

(C) 142017 (D) 19TE 2017
fFrafafaa 9 9 S9-91 71d % TR 9T SR S 2

(A)  Hrsfewet (B) uaSTEd

(C)  sSiuwe (D) et 9 wesfiuae
freafafaa o wiF-ar s sieadt § e @ 2

(A) st forhr ot (B) =T U1 Yo
(C) = (D) 3ATTd

6. Teuw 6 vl 9 el 5 uwi o I AT

(i)

(i1)

(iii)

(iv)

(v)

(vi)

*346-1*

AT 80G & dad shald! T AT Tohe U foraT ST HahaT @ 2

A) fRmw (B) TEW

(C) fTafrearw (D) fremm

TS T I | 9T 80G 3 & fohe TfraTe ht shetdt aTl & ?
A 10% B) 100%

(C) T5% (D) 50%

AT § STl St Higdd 9T Aremiid © st for freforfaa ewr e fermman 2
A) Th (B) Tel

(C) IuE (D) SR

Yy ffer 4 e & fog et feferfed s @ wefa 2

(A) 80CCC (B) 80G

(C) 80DD (D) 80GGA

Fo 318 o ToTT 0T W sATST § Shetd! &my YA |
(A) 80E (B) 80G

(C) 80C (D) 80U

g S GuTe AT AT HIN T § AT 2 |

(A) 80G (B) 80U

(C) 80GG (D) 80CCF

@ i
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(iv) GST was implemented in India from

(A) 18t January 2017 (B) 15t April 2017
(C) 18t March 2017 (D) 15t July 2017
(v)  Which of the following would be levied on import of goods ?
(A) CGST (B) SGST
(C) IGST (D) CGST and SGST
(vi)  Which one of the following taxes is included in the GST ?
(A) Central Sales Tax (B) Central Excise Duty
(C) VAT (D) Import Duty
6. Answer any 5 out of the given 6 questions. 5x1=5
) Deduction under Section 80G can be claimed on :
(A) Rent (B) Donation
(C) Medical (D) Education

(ii))  Contribution to the National Defence Fund is eligible for what
percentage of deduction under Section 80G ?

A 10% (B) 100%
C©) 75% (D) 50%
(iii) In India, the GST is based on the dual model GST adopted in
(A) UK (B) Canada
(C) USA (D) Japan
(iv)  Deduction for contribution to pension fund is related to Section
(A) 80CCC (B) 80G
(C) 80DD (D) 80GGA
(v)  Deduction for interest on loan taken for higher education is related
to Section
(A) 80E (B) 80G
(C) 80C (D) 80U
(vi)  Section is for donations to certain funds or charitable
institutions.
(A) 80G (B) 80U
(C) 80GG (D) 80CCF

%346-1* Q i [P.T.0.]



Qus-g
(Fre=raRes TR & T9) (30 3ih)
TSR FI9TA W 13T 718 5 J941 7 @ fohegl 3 T & S T | Iedh J97 & I 20 — 30
51 4 ifera | 3x2=6

7. SN AR o &l AT T3y |

8.  UTTsH foret =tk i ohdt TTford ST & 2

9. UH ITHT HT IS 3 farward sy |

10. &I & A HT TR 2

11. AT $75@ St & a1 aeeht & 4w 4T |

feQTq 5 %1 5 € fahea] 3 31 IT 20 — 30 3731 4 iirg | 3x2=6

12. T S fof Toehmeia €, 7o %ot @bt 3 T 8,90,000 2 | 381 T 1,20,000 Tie o
3T T 1,10,000 g FTHI sl U THIA H STHT HUT | IHehT HT 2T 3T hi T0MET

|

13. ﬁocﬁsouﬁa@?ﬁ%wﬁmw%?

14. R ! forfrr a8 2015 — 16 § %ol Wbt 3 T 4,90,000 °ff, ’&#H T 3,90,000
SelenTet STTd &1 o7 | 32 forfia o o forg fidies # < 1,40,000 ST fhT | 3
ST Sh TUMAT HIT A
(a) TE60 T & HH Y % & |

(b) 860 T ¥ ARIF 3T % & |
15. 91T 80C, 80CCC T aNT 80CCD o IT=Ta heldT hl e TRT TS 2

16. SHI o1 AT da9 T 80,000 ® | TUS a9 2015 — 16 o ToTq 37 gRT &L heldl ol
T[T T 50,000 AT | 3% A9 W ASTH T Gohed X T TUHT HIST T a7 § & TeIh
HEI ot Sherdl shl TTUMT ShifTT |
few 7T 8 Y¥1 4 G faheal 2 J91 & ST ST | Jedeh J99 T IR 30 — 50 Isel H i@ | 2x3=6
17. 3T T& oE@e J FaarE § 31 38 31.03.2023 i €T gAY o fog Fefafaa

WTEOI:
-
HEEARIER CIUERSIL NG L) 1,00,000
HehT HUTT § 37T 1,00,000
AT (AT htdt & 1E) 12,00,000
T AT T TUMET HIFT |
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SECTION B
(Subjective Type Questions) (30 Marks)
Answer any 3 out of the given 5§ questions on Employability Skills. Answer each
question in 20 — 30 words. 3x2=6

7. State two benefits of Green Jobs.

8. How does neuroticism effect a person ?

9. State any two characteristics of an entrepreneur.

10. What is meant by Active listening ?

11. Name two components of an OpenOffice Impress video.

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. Gross total income of Ram who is self-employed is ¥ 8,90,000. He has
deposited ¥ 1,20,000 in PPF and ¥ 1,10,000 in pension scheme of the
Central Government. Compute his taxable income.

13. What are the basic rules of governing deduction under Section 80C to
80U ?

14. R had gross total income of ¥ 4,90,000 for the assessment year 2015 — 16,
which included ¥ 3,90,000 as long term capital gains. He had deposited
< 1,40,000 in PPF during the year. Compute his tax liability assuming he
was :

(a) Less than 60 years of age.
(b) More than 60 years of age.

15. What is the aggregate amount of deductions under Sections 80C, 80CCC
and Section 80CCD ?

16. Umang has a monthly salary of ¥ 80,000. Deductions claimed by him were
T 50,000 during the previous year 2015 — 16. Calculate the average rate of
TDS payable on his salary and amount that could be deducted every
month as TDS on salary.

Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6

17. Aarav being an author and a businessman provides us the following
information for the year ending 31.03.2023 :

>
Long Term Capital Gains (land) 1,00,000
Income from house property 1,00,000
Salary (after standard deduction) 12,00,000

Compute his tax liability.
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18. o Ud Qa1 L o foheal a1 AT 6T Seci@ shiforg |
19. %] U3 Ha L e o Stwaia el ot fe i oo i |

feu 7T 5 J91 4 G sl 8 Y1 o IR ST | Yk J99 71 IR 50 — 80 Isal H @ | 3xd=12
20. FHfIRad GErTstl & X ol et Hehel 3T shl TUMAT HITT :

-
ffaat s (Frarer) 9,000
ared o e (e 7,000
ST 1 & () 18,000

21. FHfrRad gemTeil & TR at s FHaior 9 2024 — 25 % fIg X ot st 3@ sht T

FHIfrT :
-
EREARIERCIUCISIENEIE) 4,00,000
I it | 3 1,00,000
g 80C o STwaTd el 1,50,000

22. ITEST (AT 45 AT) FefTeR & AR Hd & | foeflr av 2023 — 24 & g 370
AT T 50,00,000 T | 3BT GIRT 44AD % T T&l AT | 32 3197 qeft @rat
9T 44AA o T8d FaRYd [FT TR | WA T 2,64,000 T ot AT o1 17 | :1
37 STUH L HT YT HLAT ST 2 FHTE Hied TSy |

23. IR T 3Tfehede & | IaH a9 2023 — 24 % T T 3,00,000 3T T ST T SFIHM
ST | 32 T 90,000 T AIH WA foparm st foh 15 Ridsm & 26 ol 2024 T
F T | I 34 18 T ey e el st o ° afg g8 ok anfifer o e
T 4,00,000 T | SATTHT feohzai # Iva ToheT ST L AT BT 2

24. TF G forshel AT SATfehal =3 H & TSF o Th YA Bl T 15,000 T I
AT ST | S SRqEA! W AN STeEel & 18% ©, Hishuwdt 99% SR wEsewd 9% ¢ |
G foohd T YT foh 1T et STaret 31T AfHTg TR ST o ST Uehal shL i

TUMET ST |
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18. State any two merits of GST.

19. Explain any two returns under GST regulations.

Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. From the following details, calculate gross total income of X :

=
Interest on Securities (Net) 9,000
Winning from lotteries (Net) 7,000
Interest on deposits (Net) 18,000

21. For the assessment year 2024 — 25, calculate tax liability of X from the
following details :

z
Long Term Capital Gains (Silver) 4,00,000
Income from Other Sources 1,00,000
Deduction under Section 80C 1,50,000

22. Ahuja (age 45 years) runs a furniture business. The turnover of the
business for the financial year 2023 — 24 amounted to ¥ 50,00,000. He has
not adopted the provisions of Section 44AD and has maintained the
regular books of accounts as per the provisions of Section 44AA. The
accounts revealed a net profit of ¥ 2,64,000. Will he be liable to pay
advance tax ? State with solution.

23. Aryan is an architect. His estimated tax liability for the year 2023 — 24
amounted to ¥ 3,00,000. He has paid advance tax of ¥ 90,000 for
15th September to 26" November 2024. He got a contract after which his
income increased and his revised tax liability for the year amounted to
T 4,00,000. In this case, how much advance tax is he required to pay in
subsequent instalments ?

24. A retailer in Chennai sold goods worth ¥ 15,000 to a consumer within the
state. The GST rate applicable on these goods is 18%, CGST @ 9% and
SGST @ 9%. Calculate the total GST paid by the retailer and the tax
collected by the Tamil Nadu Government and the Centre.
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